





































































































74. Who amon

(A)
(B)
©)
D)
(E)

19w

(A)
B)
©)
@)
(E)

g the following had atarted ‘Mitra Mela’ Association?

Shyamji Krishna Varma
Vinayak Damodar Savarkar

Lala Hardayal

Sohan Singh Bakna

Answer not Iknown

meuaraupiled ST Cuoarn FhISSOS Qgmrmlweud wimr?
Giqumbed &(meipeamr QUirom

edprwds srELIST STUTSHSIT,

GLITEVIT ,@_mfrgu_lrrm

Geraneir F LIGeTT

aflen Qg flweleana

75. Who founded the All-Tndia Muslim League in 19067

A4)
(B)
©)
D)
(E)

Muhammad Ali Jinnah
Khwaja Salimullah

Sir Aga Khan

A.K. Faizul Haq
Answer not known

cmasdpdu weeb o8& s fow 1906-& BlmieSluig wir?

@)
®)
(©)
D)
()

W50g 26l lerarT -
Geumgm F&dlpedenr
&1 QD& &6 '
er.Cs. emugd ans

e OsNwedoea
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76. Arrange the following studieg ¢ p
(4] .
e overty in India in chronological

(1) Ojha’s study

(2 Bardhan’s study

(3) Minhas sfudy

(4) Dandekar and Rath study
@A) 2, @, 1), 3)

@) 1), *),(3), 2

© 3),2),1),®

M @,1),3), @D

(E) Answer not known

@pfurefie  ap@w  upHlu T
GQU(TRLD 3 )
@@[;JEGDLD&S&GMLTJ . G 2G| SHenarT sraeuflengLly

(1) o8m BN

(2) uigmer e

(3) Semammaev e

(4) semGLaT mmg)jlb.urr‘aj, e
@) ©@,@®@, 1), 6

® 0®0.0

©) 3),@,1),®

O @.006.®

(E) oflenr Qs flueidme
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.

Match the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 9. Net market borrowings

(¢) Capital receipts 3. Taxes on Income and Expenditure

@ ® (©
A 3 1 2
B) 1 2 3
© 2 I 3
D) 3 2 1

(E) Answer ndt known

Qeraupeuareupap QUTHSSIS :
(a) el eu@peuml i, QL g 1&g

() afl seoons amari 2. Hsy sHms GLensar

(c) epwsgar gEgiH6T 3. augwrar wHmib Qewe| Bsrar auflsd
@ (b (©

A 3 1 2

(B)-1 2 3

(C) 2 1 3

D) 3 2 1

(E) e Qsflueiidvane
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78. Assertion [A] : Governop

In  the Indian Federal System is

assign
gned dual role, as the constitutional Head of

the Stat
¢ as well as the representative of the

Centre.
Reason [R] The Off
ice of Governor is against the Federal
structure.
(A) [A] is true, but [R] is false
(B) Both [A] and ¢ ;
[R] are true, and [R] is the correct explanation
of [A]
(C) [Alis false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
ampm [Al : @bHL gl L m Aule, <pEppT, Sigdler se@aei WHOIL
S iyélen GrdiHld eremad @G pwrer Lafls@ar
_ QewSpm. |
smyamid [R] - <24, (@HBIT GTEITD HmeuerGo sl LT §l&@E erdlyrang

A) .

(B)

©)

smpm [A] &M, gamed smyemd [R] seum

ampn [A] LOHDID sryeud [R] #fl, Cogd smpn [Alssrer glwner

SeTésOns STIETLD [R] oerarg

smpm [A] saug, sryemd [R] f
spm [A] wHHID sryamd [R] @rem@d . apamd smpny [Alssrer
gRlwmer elaTéHIDNs gryeuid [R] @@
derr_ Qsflweiloama
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1.

82.

i f the f i
Which of the following Harappan sites are not in India?

(A) Mohenjodara and Harappa
(C) Bhanwali and Ropar
(B) Answer not known

(B) Lothal and Kalibangan
(D) Surkotada and Dholavira

S&es@TLIDDIET 6Tl :
@%wm? B ADYEUT prafes serisdr spaune @pHune

(A) GursesstGrm wpmD apyiur  (B) Cangsd whmib sredlumised
[

(C) uareursll LHPID v D) &iCs 1
(B) oL Gsflualdame memr whmb Careonalym .

Around 25 districts in the e

_ : _ ast coast; 10 in Tamil Nadu
7 in A{ﬁhl? Pr&ideg,h, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region

(B) Nellore region,

(C) Machillipatinam
(D) Sundarbans Area |
(E) Answer not known

A&@s sL_hseruiled &wmm 25 wreul Lkser; g,ﬂ@pm'_q_sﬁ 10, gypdgredle 7,
@_u}&{raﬂ.ei) _6, womb  CuhE amssded 2 - Goreall LudserTd
uTdsalILL s gweal. @ephler, ahsl LGHuTag &sb@wimer UL

Luaseld 70 ssais LAl Bi@LL|b?
(A) Adsr uEs

(B) Gpagrt LGS

(C) w&haiuligarid

) sporeicos
i adlenL_ G]g,rﬂu_laﬁlcbmsn
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The northern upland of the

(A) Malnad

(B) Betwa

(C) Dhasan

(D) Maidan

(E) Answer not known

STHILS S g uSlullesr V[T IE]GUUUUULI . oren
S@Pa&suE DS

(A) wrepTh

(B) Quier,

(C) snean

(D) euwLmer
(E) oL Qzflueideme

Karnataka Plateau is known as

83.

Which Ministry launched the Digital .Inteﬂigence Platform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A) Ministry of Power

(B) Ministry of Civil Aviation
(C) Ministry of Communications and Information

84.

(D) Ministry of Earth Sciences

(E) Answer not known.

THE Si@WEFSD FEhETT FTSH CuTTLLafle lq_é]l'_L.Gi) BlarenTdley Semd whHmib
‘Fnsege ausdlew Qemimdug ? g

(A) Blér si@wsesid

(B) Aafle) aflorer CUTEGaITES SiamDESELD

(C) ssaud Qs <mwsssnd

D) yel sfefwed ewissid

(E). dler QzMweddwene
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n't/don’t find mention ip the

i jea does
=0 Which of the following bodies ¢

Constitution? :
(1) National Development Council
(2) NITI Aayog

(3) Election Commission

(4) Finance Commission
(B) (2) only

((g)) (( :; ::: ((j; ::l]i (D) (1), (2) and (3) only

(E) Answer not known
craa/eranauser  DiTflueeiolis 5L b8

&psar.  s@wuysefld
sraviiuLfd@w ?

(1) GCsélwu aarisdls &
@ $H eCuns -

(3) GCsise gye@earub
4) P9 syearwub

A) (1) wpgw (2) wLEwb

© (1) wogd (4) v Ev
(E) e Qsfuaidame

®) (@) Lo
@) 1), @) oot (3) v Go

80. Who among the following is the only woman historian to have
written a historical account of Mughal period? ;

(A) Gulbadan Begum (B) Zeenat-un-Nisa Begum
(C) Jahanara Begum ' (D) Zeb-un-Nissa Begum
(E) Answer not known : .

ﬁdim@umm@m @mvrr.u.rr'rewﬂeh HMe0&H S 6h ; i

awdu Cr Quekr auFemH) Q{,«'ﬂlﬂ_tuﬁ mrﬁr@a el Iy Depeise

. (A) Gauger Gusip (B) Qs -2 - Hler Gusid
"‘ © goamm Cusw (D) Qgui-2 ar-Hler Cuaid

54



gb. Who had been given the “§

86.

and Industry? hilp Awards” by the Ministry of Textiles

(A) tolegendary dramg artists
(B) torural women entrepreneu
(C) tolegendary farmers rs
(D) tolegendary crafts person

(E) Answer not known

maiefl  LHHID  AgmPle P,
PBEILEEDE 2 Bgienp DiDFFsHETH Aol elmpmeT  WTHSS

(A) UsRAUDD BIL&sE& 506 (5118 (6T &)

(B) Srmotiyp Guar Qﬁ"@‘a“@@m@mrrﬁ
(C) uysQup elleusTulser

D) '—Iai'a'PQL‘H‘)DJ a6l enens HED R (GHTEET -
(E) ofer QgMweleena

Some parts of the moon never see sunlight. Because the axis of the

moon 1is to the direction of the Sun’s light.
(A) Perpendicular (B) Parallel
(C) Same ' -(D) Opposite

(E) Answer not known

ﬁ]meﬁle’m Ao uGHser eriCGumgid  Gflw gafllleners unrssGsleame. et

crampmed  Hlevadler  nEE siu  galddar  JossG 5
G HUUSTE.
(A) QenEssns (B) @wanuns
(C) s&wwrs | D) adyrs
(E) ofevL Qs flweiidama
o CCSE2E/20¢
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87. Assertion [A] : 2-4-D is used as herbicic.les.
Reason [R] : 2-4-D induces production
fertilization. :
(A) [A] is true, [R] is the correct explanation
(B) Both [A] and [R] are true

(C) [A] is false, [R] is true -
(D) [A] is true, [R] is not the correct explanation

(E) Answer not known

ampm [A]

2 -4-D seasQsrédadwurs QewduBdng

of fruits without

smpeud [R] : 2 -4 -D smaypmos safl 2 (HeuTs SMyETLTSng).

4) [A] gilwurerg, [R] sflwrer eflerésid

B) [A] whgib [R] sfwnrerg

©) [A] saipreang, [R] sflwurarg

D) [A] sflwreng [R] swrar eferésifdeana -
(E) olerr Gsfwefana

88.  Objectivity, Predictability ‘and Generality are the features of

(A) Scientific method

(B) Scientific enquiry

(C) Scientific attitude
(D) Scientific experiment
(E) Answer not known

HPQIWULL L geteld,  apennsenfiL Ussenew  wpmid

: ) éi’,’rﬁa&]mcb errenenr
2ilellwied weriLimaenin
Sifledlwed unﬂG&ngmm;
afle. Qsifluiedcrena
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P The United Nation hag declared
(A) International year of Girl Clxglsdz ¥
ildren

(B) International year of S
©) International year of & elter for the homeless
omen

(D) International
year of C] :
(E) Answer not known PHNKERE

1987 - ®
/& &&'Qm Em.—® Fen Ll auﬂeﬁ]ﬁﬁy

(A) staGgs Quan Gyhesasar <6
) &reuCGgs
B \ B - @pelil1d G amgeuitaenie, 2 @paiib euimki@GD
(C) srauGge waaflissmear oy amE S Desl

(D) sieuCss &5558Darear EOR

g0. In w ch year Flipkart signed a memorandum of understanding

with the Tamil Na
e & Nadu MSME Trade and Investment: Promotion

(A) 2021

(B) 2018

(C) 2001

@) 2011

(E) Answer not known

e Qaflusmie, sOpHTE MSME  auiiggsid wHgd @ES-6

abs
@ @sQupsSL8?

oadh (&6 IL LM b emTiTey Laf LSS @UUHSSE
@A) 2021 |

B) 2018

(©) 2001

D) 2011

(E) ofer Qs fueiodo®
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' ]
91. According to 2011 census, the density of popu

92,

ation in Tamil Nady

18

(A) 450 per square km
(B) 555 per square km
(C) 650 per square km
(D) 750 per square km
(E) Answer not known

2011 wasdr Qsres send6sG L6 HUOPBILIgET EEET QBTES )L fijH]

(A) 450 @ sgiy .5
B) 555 gm sgir &.08
(C) 650 g@m sgir &.15
(D) 750 @ ssir &.18
(E) oL Qsfluelome

Tamil women who were competent in literature, music and drama
were called as '

(A) Mudukkuravai

(B) Mudinmagalir

(C) Viraliyar

(D) Kanigaiyar

(E) Answer not knoWn

Qasdwub, @Qas, grrl_asm < Hlweunhled Ggrr&-é} Quim sOPL  CueaTser
ey é{ﬁb‘)@&&;ui_li_l_ﬁbﬂr

(A) [CETEIGI T
(B) @yemnosafi

i (C) &fgewrr

Ganflengswim

el Gz MAweidrera
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(A) Heroism
(C) Fort
(E) Answer not known

(B) Force
(D) Wealth

‘ansaufilenr  sireugen
5@%  SiLsEh  eusn aeTm  aueTenet  apaens

GBS

(A) @fgb.

(C)  wiveim B) ueL
(D) Qsoweund

(E) el Ggiuaiicoens

¥

14

6l —— that man desire it is plain whom others wealth
Delights not, feeling envious pain”.
Whom does Thiruvalluvar refers to in the given above Thirukkural?
(A) Nor wealth nor virtue does that man | |
(B) Man of envious heart
(C) Envy they have within
(D) Goodman
(E) Answer not known

111 . .
marmdsLd

GuaRTITE) DS LITET .

GreiTml WImeny & (HeuaT(@hau GHUAGEDTT?
(A) <oper RESD G GRTL TS TEH

(B) ieuadu GpEHsssTer

(C) <iwssT > GHL\LITET.

(D) Qaeuefuimer

E) e AsMweldama

CCSE2E/2024
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r
Choose the Sangam paric'ud in Whi'ch the poet Nakkirar wag
considered the most predominant poet
(a) First Sangam
(b) Third Sangam
(¢) Second Sangam
(d) Fourth Sangam
(A) (a) only
(C) (c) and (d) only
(E) Answer not known |
ECp QsmRssuul Qerer srosdd psSrT s WEEL LHoans ehss shis
srsss Canbselrred &IOS DT ?
(@) @so srisb
(b)_ CPGTDITLD FrhiGLD
(©) @uewmmb srisib
(d) BTET&STD FhigLD ‘
(4) (a) v Ew o B) (b) wr@n
(©) (0) wpp (d) wr @ D) (b) wppib () W Gid
(E) e Qsfwefidea ‘

95.

(B) (b) only
(D) (b) and (c) only

- 96.  One side of a rectangular field is 15 m and one of its diagonals is
17 m. Find the area of the field,

A 80 m?2 - (B) 100 m?2
(C) 110 m? (D) 120 m?2
(E) Answer not known

20 Csious aige Blosdler owm Lss Setay 15 18 wpmb DIFET R
epeaeilLib 17 (8 erenfled, _Jﬂsusﬁsh Ul eTenay asrrejtrre‘nf.

) 802 - (B) 100 52
110 82 | (D) 120 82
aflenL Qgflwieedeana
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cat =abc

97. If dog =def

98.

'E&GBDM4NKH2ACZSV3F1JLOQ

Then which one of the .
e followmg may be equal to SE

(A) ﬂa_ cot
aec (B 2o
© 9@ ace
ace D) 22
(E) Answer not known aec
cat=abc "
= aer  @operd o
(ic;]gekasdtjifl_mmb? el Al el ReTaipgdr e pHe
cbha
Ay 22
il aec (B) ﬂa_
b ace -
T
(©) ace (D) o,
aec

(E) ofenr Gsiflwefdeme

E&GBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?
GDR BMP D45 ?
A) MNQ (B) 4NQ
(C) MKO (D) M4Q
(E) Answer not known '

5PR
Aarm GASL Q&G UHons au(mHD QBT o187
GDR BMP D45 ? '
(A) MNQ

(C) MKO
(B) oflarr Qgfueidoe

(B) 4NQ
(D) M4Q

CCSE2E/2024
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|

on Rs. 68,000, at 162% per annum for i
i

-

99. Find the simple interest
9 months.
(A) Rs. 7,500
(C) Rs. 6,500

(E) Answer not known _.
VR ey dgd 162% aafld . 68,0004 GerTugl WISHEEEES, 56 J

(B) Rs. 8,500
(D) Rs. 5,600

oo e

!
"

QU ererar?

A) @ 7,500

(€) e 6,500

E) oL Osfuaioame

(B) em. 8,500
D) em. 5,600

100. If A:B:C=2:3:4 then i;— g %mequalto .
(A) 8:9:10 (B) 816+ 24
(© 8:9:24 - (D) 24:9:8
(E) Answer not known
A:B:C=—2-3:4 srsoﬂd:%:—g:gmwgmq
A) 8:9:10 | B) 8:16: 24
(C) 8:9:24 D) 24:9:8

(E) el G flwedeana
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LJ -
@;@ ¥~ GQung @b
art-B - General English

grméser  : 101-200

& o |
Questions : 101-200 "$s wHuQueser : 150
e Total Marks : 150

01, “But of late, my computer has been b '
. : ehaving b
It is so absent-minded, that I don’t know whgat ig 1;0?’00,

Mention the figure of speech used in the above lines

A) Simile- : .

(C; e (B) Personification
eta

( P or (D) Repetition

(E) Answer not known

102. But I know no better spectacle
Than a comet in full flight.
What do you mean by ‘spectacle’ here?
(A) unusual event that attracts attention
(B) usual situation that attracts distraction
(C) expected event that attracts attention
(D) unexpected situation that attracts distraction

" (E) Answer not known

103. It’s written In victory and defeat
And every trial a man may meet.

What does ‘it’ refer to in the above given lines? |

(A) Sports (B) Hope
(C) Courage (D) Patience

(E) Answer not known
CCSE2E/2024
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104.

105.

106.

107.

Match the Poets with their Poems : River
(6): Mary Bothiam Howpt: ; g;g S:;:k-together Families
me ] S 3
(®) Camh"{; Anf Bowles . The Spider and the Fly et
(¢) Robert Fros 4 Stopping by Woods on a Snowy

t
(d) Edgar Albert Gues Hosaig

@ O © @
(A) 3 1 4
B) 4 2 3
(©), 3 4 2
(D). 2 4 1!
(E) Answer not known

2
1
1
3

For simple sheep; and such are Daffodils ...
With the green world they live in;
and clear rills ...

The above lines were written by

(A) W.B. Yeats
(C) John Keats
(E) Answer not known

(B) Percy Bysshe Shelley.
(D) William Wordsworth

|
2

“Come you back unto the fireside and be comrade with your kin’

This line is taken from the poem

(A) The Poison Tree (B) The River
(C) The Stick-Together Families (D) Life.

(E) Answer not known

“Still seeking what I sought when but a boy,
New friendship, high adventure and a crown”

Who wrote the above lines?
(A) Khalil Gibran | - (B) Henry Van Dyke

(C) - H.W. Longfellow (D) John Masefield

E) Answer not known

66



‘Practice h
108. Pr ard and geeq what mAge can 4
ranspire’

(A) Ramakant Achrekay
(B) Ajit

(C) Sunil Gavaskary,

(D) Sachin’s father

(E) Answer not known

109. Tom used the pain killer to
(A) take care of his health
(B) mend the crack on the sitting room floor
(C) to Cure Becky_ Thatcher |
(D) help his aunt

(E) Answer not known

~ 110. The adventures of Tom Sawyer is a

(A) S‘hoﬁ Story (B) Novel

(©) Fiction (D) Tale
(E) Answer not known

CCSE2E/202
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1 15 8

112.

113.

B i14,
(&) May1, 1863 (B) January 1, 1863

] of birds by
Dr. Salim Ali was introduced to the serious study
| EHA '
(A) W.S. Millard (B) e
(©) Norman Boyd Kinnear (D) Amiru .

(E) Answer not known

g ” — Who said
“Elephant Rides are for the Royals. Forget this Dream

this to Rani of Jhansi?
(B) Moropant Tambe,

(A) Baji Rao
(D) Pandit Dikshit

(C) Gangadhar Rao

(E) Answer not isnown

What was the name of the system that Nelson Mandela_ fought

against?
(B) Apartheid

(D) Sathi,

(A) Civil Rights:
(C) Violence
(E) Answer not known

- Abraham Lincoln Proclaimed the abolition of slavery on

) dJanuary 1, 1864 (D) May 1, .1864,|
- Answer not known
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115.

116.

117.

118.

{19

(C) super
(B) Answer not known

Fill in the blanks with suitable articl
India is g
g — largest democracy in the world.
o L o
/a

(E) Answer not known

IdETltlfy the correct preposition from the options given below
I will have finished this essay Friday |
Ay in (B) on |

(C) at - (D) by

(E) Answer not known

Choose the correct question tag :

This is the bus that I have to travel, ?

(B) isn't this?

(A) is this?
(D) isn’t it?

(C) isit?
(E) Answer not known

Select the suitable tag.

He lives in Europe, e < A L

(A), isn’t he?
(C) didn’t he?
(E) Answer not known

(B) wasn't he?
(D) doesn’t he?

CCSE2E/2024
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194. And 1 Sunned it with smiles

'E -2 S

1dentify the alliteration in the given li
ne.

@) I-it
(B) And - with
© Sunned — smile
(D) Sunned — with

(B) Answer not known

To win, run as fast as the wind

Identify the figure of speech in the given line.

(A) Personification (B). Metaphor

(€) Simile (D)} Anaphota

(E) Answer not known

126. Which of the given option is a Metaphor?

(A) Lifeis like a chocolate box

(B) Rajis like his twin brother
(C) His words are pearls of wisdom
| (D), Thebusis slow as a snail

Answer not known

71 CCSE2E/202¢
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120. Select the grammatically correct sentence :

(a) My son is fond of music
(b) My son is fond to music
(¢©) My son is fond in music

(d My son is fond with music
(B) Only (d) is correct

(A) () and (¢) are correct (D) Only (a) s correct

(O) (a) and (d) are correct
(E) Answer not known

121. Which of the following is a noun?

(A) Put (B) Walk
(C) Sun (D) Call
(E) Answer not known
122. A of birds were flying on the sky.
(B) group of

(A) swarm of
(C) flock of (D) herd of

(E) Answer not known

123. Identify which is the correct singular word and select the answer
from the codes given below.
(a) Crises
(b) Media

(A) (a)is a singular word

(B) (b) is a singular word

(C) Both (a) and (b) are singular word
(D) Both (a) and (b) are plural word.
(E) Answer not known
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127.

128.

129,

ite sail’s shaki
And the wheel's kick and the wind’s song and the white gail’s 8 ing

¢ . ic line,
Pick out the figure of speech given in the above PoetiG=
(B) Simile

(A) Metaphor
(D) Hyperbole

(C)¢ Alliteration

(E) Answer not known

“I must go down to the seas again, to the

Vagrant gypsy life”

Gypsy life means
(A) A Sea Captain’s Life -
(B) A Wandering Man’s Life
(C) A Historian’s Life

(D) An Explorer’s Life

(E) Answer not known

“But we ants never borrow;

We ants never lend”

Why do you think ants neither borrow nor lend?
(A) Ants are not wise and hard working

(B) Ants are lazy

(C) Ants are wise and hard working,

(D) Ants are wise and silly

(E) Answer not known |
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130. Autumn is English
in red, yellow and Brown
Autumn'is Indian

Whenever leaves fall down
Who wrote the above poem?
(A) Nisha Dyrene

©) D.H. Lawrence

(E) Aﬁswer not known

.(B) William Wordsworth
(D) Mary Botham Howitt

> “ And 0 | g
131 ne day, my naughty computer actually gobbled a worm
And behaved so erratically that it made me squirrr‘f’ |

The poet was made to squi : :
' quirm because of the ———— .
the computer. 5 behaviour of

(A) absent-minded B) dreadful
(C) erratic- ' () hasty
(E) Answer not known

W
23 -
A v -

_ Every soul that touches yours '
Be it the slightest contact

' Who wrote the above lines?
(B) Robert Frost

( ) William Shakespeare- )
D) John Masefield
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133. State which statement is correct :

b
(1) Little Czar was a European brown bear cu

(2)
(3)

Little Czar was an Indian brown bear cub
) b
Little Czar was an American brown bear cu

! b
Little Czar was a Germanian brown bear cu

(4)
@ 1 (e
() 8 (D) 4

(E) Answer not known

134. Who brought up Sir Isaac Newton?

(A) Grandfather (B) Grandmother

(C) Father (D) Mother
(E) Answer not known

135. Beauty lies in the beholder’s
(A) Head (B) Eyes:
(C) Brain (D) Ear

(E) Answer not known

136. “My Reminiscences” was written by

(A) Kamala Markandaya (B) Ernest Hemingway
(C) Toru Dutt (D) Rabindranath Tagore '

(E) Answer not known
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with the pencil.

139. Granny compared
(A) Babu (B) Raj
(©) Ravi (D) Rajesh

(E) Answer not known

140. Raj's pain of not doing well in his test was compared with

of pencils.

(A) writing (B) drawing

(C) sketching
(E) Answer not known

(D) sharpening

141. Raj understood that failures are stepping stones to
(B) conéoling
(D) strength

(A) , success
(C) climbing
(E) Answer not known

142. Choose the correct meaning of the phrase.

Reconcile to
(A) Maintain (B) Accept half heartedly .
(C) Arrive suddenly (D) Continue

(E) Answer not known
76 38



Read the followin
. g pa
below (137 — [ e Sy
141) ; Y and answer the questions given

ma explained, “you can learn a

il because it is just like you. It

great many things from thjg pen
. : . c

experiences a painful sharpening just the
] way you

the pain of not doin ! have experienced
g well in your test. However it will help you be a

better student. J

from within itselgszoisvi]llthe good that comes from the pencil is

hurdle. And fin 11 : als-o find the strength to overcome this
ally Just as this pencil will make its mark on any

surface, you too shall leave your mark on anything you choose to”.

Raj was 1.mmed1ate1y consoled and promised himself that he would
do better in future. '

137. Raj was upset as he had done in his English test.
4) well (B) poorly
(C) Dbetter (D) average

(E) Answer not known

. His grandmother gave him a

(A) sketch : (B) pen

(C)~ pencil (D) painting box |

(E) Anéwer not known
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144.

145.

146.

Choose the corre
. ct tense f
orm for the

If she works hard, she following sentence
e il
a scholarship.

(A) would get.
(©) will get (B) would have got

(B) Answer not known (D) won't get

Select the correct tense
If you

(A)  will work
(C) working
(E) Answer not known

hard
you would have won the relay match.

(B) works
(D) had worked

Select the correct passive form of the sentence g
She had already sent the parcel Tt
(A) The parcel has already been sent by her

(B) The parcel had already been sent by her

(C) The parcel was already sent by her

(D) The parcel was alread
y sent to h
(E) Answer not known 3

Choose the correct Active Voice for the given sentence :
The rules should not be violated '

(A) You should violate the rules.

(B) Anybody should not violate the rules.
(C) Do not violate the rules.

() Nobody should violate the ruless

(E) Answer not known

wing is suitable to complete the meaning’?

 Which of the follo
latopped——— to him.
(A) to talk (B) talking
‘(D) being talked

(C) having talked
(E) Answer not known
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148,

149.

150.

151.

- options.
Pick out the complex sentence from the given op d behaviour
: . e
I could not make out the meaning of his absur

(A) : d person
One who does not love one's country is a wretched p

(B)
(C)  The children strolled through the meadow

d
(D) The moon was bright and we could see our way

(E)  Answer not known

Find out what kind of sentence is given below.
1If he is at home, I shall see him’.
| (B) Compound

(A)  Simple
(D) Imperative

(C)  Complex
(E) Answer not known

Combine the pairs of sentences by choosing the correct sentence.

I saw a Tiger. It was wounded
(A) Isaw a Tiger was wounded

(C) A wounded Tiger saw me
(E) Answer not known

.

(B) Isaw a wounded Tiger
(D) I was wounded by the Tiger

Identify the correct Degree of Comparison :
(1) Very few people in this town are as generous as Mr. Mohan.

(2) Icannot do anything better for you than this.

(A) (1) Comparative Degree (2) Positive Degree

(B) (1) Positive Degree (2) Comparative Degree-
(©) (1) Superlative Degree (2) Comparative Degrée
(D) (1) Positive Degree (2) Superlative Degree

(E) Answer not known :
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“The bleeding bark will heg]"

!
(A) Personification
(B) Simile

©) - Metaphor
AD) Oxymoron

(B) Answer not khown

. y53. Lights flicker on and off

g But fear takes over me.

: Identify the Onomatopoeic word in the given stanza.

f

(A) tear (B) lights

(C) - flicker (D)- on and off
(E) Answer not known

© 154. “We were _taken from the ore-bed and the mine,
We were melted in the furnace and the pit—
We were cast and wrought and hammered to design,

We were cut and filed and tooled and gauged to fit”.

What is the poetié device used here?

(A) Oxymoron (B) Paradox

- (C)- Assonance . (D) Anaphora

(E) Answer not known

79

152 Identify the figure of speech
employed in the following lines.
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155. “She puts her life at Stake”

Give the meaning of the word Stake
(A) brisk (B) courage

© ease (D) risk .

(E) Answer not known

156. Strong is she in her faith and beliefs.
“Persistence is the key to everything”, says she.

What does the word “Persistence” mean?
(A)  grief (B) groans
(C) determination (D) moans

(E) Answer not known

157. It’s helping your fellowman to score
When his chances hopeless seems;

The word ‘it’ in the above lines refers to

(A)  hard work
(B) best work
(C) team work
(D) smart work'

! (E) Answer not known
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W The woods are lovely, dark and d
But I have promises to keep s

Who wrote the above lineg?
(A) Robert Frost,

(C) Nisha Dyrene

(E) Answer not known

(B) Sarojini Naidu
(D) John Masefield

159. But the gladdest sort of people, when the busy day is done
~ Are the brothers and the sisters who together share their fun.

Who wrote the above poem?

D.H. '
(A) | -Lawre_nce (B) Edgar Albert Guest
(C)+ William Wordsworth (D) Mary Botham Howitt
(E) Answer not known

160. The word ‘Plaintively’ means
(A) Happily - (B) Sadly
© J oyfully: ' : - (D) Depressively
(E) Answer not known

Prospero’s daughter name was

- (A) Poﬁia (B) Desdemona |

(©) Juliet
- (B Answer not known

"(D) Miranda
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: 2
162. What is the landform formed by gilt called?
(A) Alluvial (B) Sinkhole

(C) Meander

(E) Answer not known

(D) Fluvial Terrace

. )
163. Which historical character ingpired Young Indira:
(B)« Joan of Arc

(A) Rani of Jhansi
(D) Vijayalakshmi Pandit

(C) Sarojini Naidw

(E) Answer not known

164. Why did we call Dr. Salim Ali as “Birdman of India”?

(A) His research in climate change

(B) His immense contribution to the field of Ornithology:

(C) His research in Orthopedic
(D) His research in Water Movements

(E) Answer not known

165. In whose biography do you find this statement?

I would sweep them out of existence if I had the power.

(A) Jawaharlal Nehru | (B) Nelson Mandela
(C) Mahatma Gandhi _ (D) Abraham Lincoln-

(E) Answer not known

CCSE2E/2024 : 82



Match the words wj :
166- Wi 8 With theiy )

(a) Friendly relationship ! Phrases

(b) Meet by chance 9 Lan out

(©) Use completely 3- get along with’

(0 Losvefom thiptace 4 S
@ ® (@© @

@a 3 2 1 4

D e ey

()L 2 &l @il

) e - R T

(E) Answer not known

167. Choose the correct synonym for the underlined word :

Fill all the bowls, tubs, pails and pitchers with fresh water.

(R} mues - (®) jugs:
(C) buckets (D) pots
(E) Answer not known

168. Choose the correct ‘Synonym’ by matching Column Aand B:

Column A Column B
(a) Affluent 1. Widen
(b) Dilate 2. Spire
(c) Smacks 3. Wealthy
(d) Summit 4. Drive

@ ® © O
A 1 3 2 4
B) 2 1 3 4
s 1 4 2
T
~ (E) Answernot known
| CCSE2E/2024
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169. Match the Non-finite verb correctly : Column B
Column A : 1. Infinitive
(a) Walking is healthy habit 5, Present Participle
(b) I like to walk early in the morning 2. A
(¢) Having walked a long distance 3 Gerunds’
I felt tired 4 Past Participle -

(d) These are my walking shoes

@ ® © @
A 1 2 3 4
(B) 3 1 4 2
© 1 3 4 2
(D) =3 ], 2 4
(E) Answer not known

170. Identify the sentence pattern of the following sentence.

I painted the car blue.
(A) SvoC

(C) SVA
(E) Answer not khown

(B) SVC
(D) SVOA

171. Identify the sentence pattern of the following sentence.

In 1998, Frank moved to London

(A). ASVA (B) ASVO
(C) ASVC (D) SVIODO
(E) Answer not known
172. They rejoined the group as Sarah passed out and coffee.
(A) desert (B) dirt
(C): dessert - (D) dish
(E) Answer not known
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174

175.

176.

Foreign + Exchange =
i -

Find the blended word.

(0] Foreign change

(©) Forex change (B) Foreign exchange
(E) Answer not known (D) Forex

Which two words blend t

: ogether to f ! \
A Cam + recorder orm the new word ‘Camcorder ?
©) Camera + order
() Answer not known

.(B) Camera + recorder
(D) Cam + corder

Which of the following is correct for?

Overcoat

(A) Noun+ Preposition
B
(C)- Verb + Noun gy

. P -
(E) Answer not known (D) Preposition + Noug

Identify the compound word that is :

Gerund + Noun
(A) Cry baby (B) Sun rise
(C) Bleaching powder (D) Sun set

(E) Answer not known

_ Replace the underlined word with its American word :

We should use the Bin for the garbage-

(A) Dust Bin .(B) Trash Can

(C) Garbage Bin "~ (D) Trash Box

(E) Answer not known
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178. Courage isn't a brilliant dash,
A daring deed in a moment's flash;
It isn’t an instantaneous thing
Born of despair with a sudden spring

Write the Rhyme scheme of the poem.

(A) ABAB (B) ABBA
(C). AABB (D) AAAB

(E) Answer not known

179. Speak gently to the young, for they
Will have enough to bear —
Pass through this life as best they may,

T is full of anxious care!
Write the Rhyme Scheme of the given stanza.

(A). ABAB (B) ABBA
(C© AABB (D) ABAA

(E) Answer not known

180. And all T ask is a windy day with the white clouds ﬂy]'ilg,
And the flung spray and the blown spume, and the sea-gulls crying.

The rhyming words in the above lines are
(A) windy, white ' (B) spray, spume
(©) clouds, gulls (D) flying, cryine

(E) Answer not known
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h 4

181

182.

183.

you were the dad chosen for
me

The author’s dad wag chosen 1
Y —

(A) © Mother
(B) Neighbours

© God
(D) Friends

(E) Answer_ not known

Then my computer cau :
So I had to call in a doctor, dou‘;z ;;i ]:'ell very sick,

Why did the poet call the doctor?
(A as the computer fail very sick
(B) as the computer fall down ‘
(C) as the computer got hurt

(D) as the computer fall asleep

(E) Answer not known

“And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over”

The above lines are in the poem —

(A). A Thing of Beauty (B) Sea Fever

(C). Lessons in Life (D) Making Life Worthwhile

(E) Answer not known
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184. Who was chirping at the edge of the woods?
(B) Monkey

(A) Cow
1D) Birds

(C)  Dog
(E) Answer not known

or to

185. On the way to his home, Peter stopped to pick
listen to the

(A) Blue flowers, the water falls
(B) Blue flowers, the rabbits’ soft tread
(C) Yellow flowers, the rabbits’ soft tread

(D) Yellow flowers, the water falls-
(E) Answer not known

186. The setting of the play ‘The Dying Detective’ is in
(A) Victor Savagé’s house
(B) A New York city apartment -
- (C) Dr. Watson’s House
(D) Sherlock Holmes’ bedroom .
(E) Answer not known

writer.

187. Sir Arthur Ignatius Conan Doyle was a _
(B) American
(D) French

(A) Irish
(C) British,
(E) Answer not known
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